Disease Detectives

Answer Key

Total Possible Points: 185



1. Which of the following would reduce random error? (5 points)

a. Increasing sample size

b. Reducing sample size

C. Increasing variability in the measurement
d. Reducing variability in the measurement
e. Bothaandc

f. Bothaandd

2. Which of the following describes a “mixing of effects” in a study or survey? (5 points)
a. Conflating

b. Confounding

c. Random error
d. Random selection

3. Describe the difference between morbidity and mortality (10 points)

Morbidity refers to the state of being diseased or unhealthy within a
population. Mortality is the term used for the number of people who died within a
population

4. Describe the difference between precision and accuracy (10 points)

Precision refers to the degree to which there is variation in a measurement.
Accuracy refers to the degree to which the measurement is correct.




5. The portion tiod ’ .
i Cohgft tgre O111111<):1dence of a disease in the exposed that is due to the exposure is: (5 points)
b. Relative risk
€. Attributable risk
d. Benefit group

6. s )
On December 1 ', a survey taken at your high school shows that 50 students have the flu. Another

;urvey is taken on Dece.mber 15% showing that 75 students have the flu. If there are a total of
000 s.tudenFs a_t your high school, what is the prevalence of the flu at the end of the time period?
What is the incidence of the flu at the end of the time period? (20 points)

Prevalence = .0375 or 3.75%

Incidence = .0125 or 1.25%

7. In a case-control study, which statistic would you use to measure association? (3 Points)

0dds Ratio

8. Which type of prevention involves early detection of existing diseases and includes screening? (5

points)

Secondary Prevention

9. What are the three components of the epidemiological triad? (15 points)

Agent, Host, Environment






